7030-00452 KIT

MAS90: 5043-43256

SUMMIT ROOMSAVER HARDWARE

QTY: DESCRIPTION:

8 100MM DECORATIVE HEAD LAG BOLTS

1 4MM ALLEN WRENCH

10 6 X 1 1/4" PHIL FLAT PARTICLE BOARD SCREW
1 4MM POWER DRILL DRIVER

2 4" X 2" MENDING PLATES

2 710124 F 2" MENDING PLATES
16 #8 X 1" PHIL PAN SMS ZINC SCREWS

4 21/4" L BRACKET
16 #8 X 3/4" PHIL PAN SMS ZINC SCREWS

mt:mnmmmm LAG BOLT

4MM ALLEN WRENCH

BLY: 1 PERSON AND 45 MINUTES

4mm Allen Wrench (INCLUDED)

= PHIL FLAT PARTICLE BOARD SCREW |
== 4MM POWER DRILL DRIVER
O O ASSEM
o O 4" X 2" MENDING PLATE TQOLS:
O O 1)
2) 4mm Allen Drill Bit

2" MENDING PLATE 3)

(kwewe>  #8 X 17 PHIL PAN SMS ZINC SCREWS

> #8 X 3/4" PHIL PAN SMS ZINC SCREWS

(Be sure to FULLY SEAT the bit into
bolt head before turning)
Phillips Screwdriver

*We recommend using a power driver with the drill bits if
available*

BE SURE THE LAG BOLTS ARE STARTED
21/4" "L" BRACKET INTO THE HOLES ON THE FRAME RAILS
DURING ASSEMBLY. DO NOT FULLY
TIGHTEN UNTIL ASSEMBLY IS LOOSELY
COMPLETE.



EE SUMMIT TWIN BOOKCASE DAYBED 4660/4661/4662/4695
w/ 4 DRW STORAGE UNIT

LIVING SPACES

PARTS LIST:

A) 8 - 100mm Decorative Head Lag Bolts
B) 1 - Roomsaver Headboard (same Headboard for Twin and Full bed)
C) 2 - End Assembly w/ doors. Doors open outward to determine Right side or Left side.
D) 2 -3 1/4" x 75" Mattress Rails w/Support Cleats
E) 3 -3 1/2"x 38 3/4" Loose Slats for Twin bed, or 3 - 3 1/2” x 53 3/4" Loose Slats for Full
F) 10 -1 1/4" Wood Screws
G) 2 - 2” x 4” Mending Plates
H) 2 - 2" x 2” Straight Brackets
) 16 - #8 x 1 Screws
)} 2 -2 1/4" L-brackets
K) 8 - #8 x 3/4" Screws

ASSEMBLY INSTRUCTIONS:

Make sure you have all parts before beginning assembly. If you need a part, contact the dealer where you
purchased your bed.

1) Attach two mattress rails (E) to headboard/footboard assemblies (D) with 8 lag bolts and 8 washers, and tighten.
2) Spread Slat roll out across bed frame from end to end. Place wood screws in 4 outside corners with slat pushed
tightly up against the bed end. Place 3 loose slats into gaps in slat roll, and screw down with wood screws. See Slat

installation information on following pages.
3) SEE NEXT PAGE FOR HEADBOARD INSTALLATION and L BRACKET INSTALL FOR UNDERDRESSER



=B E 7030-00452

LIVING SPACES

5)

6)

7)

SUMMIT ROOMSAVER
HEADBOARD BRACKET PLACEMENT

Attach one 72” x 2” straight bracket at each end of the headboard spanning the joint between the top rail of the
ends (D) and the bottom edge of the headboard uprights.
Attach on 2x4’ bracket inside each end centered on the headboard ends

FRONT SIDE RAIL CLEAT

END BOTTOM RAIL

FRONT SIDE RAIL CLEAT

END BOTTOM RAIL

END BOTTOM RAIL

21/4" 'L BRACKETBOTIOM BACK END OF UNDERD RESSER
AND BOTIOM RAIL OF END PANEL

Attach 2 V47 “L” brackets to the top of the underdresser corner blocks at each end and to the back of the front

side rail cleat as shown in Detail C to the right above. Use two of the 2 1/4" brackets to attach the back, bottom ends of
the underdresser to the bottom rail of each end panel as shown in Detail D to the left above



SCREWS

Installation of individual slats for use with

Bunkie Board

(Bunkie Board sold separately)
See your retailer for purchase of Bunkie

Board

When used with a slat roll, the three
individual slats should be placed evenly in the gaps
and underneath the strapping before fastening.

SCREW—~_— AN _-SCREW
/ N\
| _ \\ // _ _
lis Individual Slat
INDIVIDUAL
SLATS i _ |
| |
INDIVIDUAL [ [
SLATS | |
N [l SCREW
- N Individual Slat
SCREW _ _
| |
_ _ _ _
\
q _ _ _
mme<<|/ -SCREW
i \ Individual Slat
_ _
_
_ _ _
SCREW— &5 )
“SCREW

Installation of individual slats for use with
Slat Roll
(Slat roll sold separately)

See your retailer for purchase of Slat Roll


Bill
Stamp

Bill
Stamp

Bill
Typewritten Text

Bill
Typewritten Text

Bill
Typewritten Text
                  

Bill
Typewritten Text

Bill
Typewritten Text

Bill
Typewritten Text

Bill
Line

Bill
Line


	7030-00452 KIT
	5043-43256
	Sheet1


	7030-00452
	7030-00452
	7030-00452

	Instruction Sheet - Last Page




